Name _____________________
12.3 Why do business services locate in large settlements?
A. World Cities
a. Among the oldest ______________________________________________________________________
b. Ziggurat ______________________________________________________________________________
c. 2500 B.C. _____________________________________________________________________________
d. 3 Roman cities _________________________________________________________________________
e. The residents _________________________________________________________________________
f. Athens ______________________________________________________________________________
g. The rise _____________________________________________________________________________
h. Trade _______________________________________________________________________________
i. Surplus ______________________________________________________________________________
j. The largest medieval ____________________________________________________________________
k. From the collapse ______________________________________________________________________
l. 5 cities _______________________________________________________________________________
m. In modern ____________________________________________________________________________
n. The telegraph _________________________________________________________________________
o. The railroad___________________________________________________________________________
p. As centers ____________________________________________________________________________
q. A disproportionately ___________________________________________________________________
r. World cities ___________________________________________________________________________
s. Most are national ______________________________________________________________________
B. Hierarchy of Business Service
a. Geographers __________________________________________________________________________
b. Business services _______________________________________________________________________
c. 3 cities _______________________________________________________________________________
d. The world’s ___________________________________________________________________________
e. Only two _____________________________________________________________________________
f. The second level _______________________________________________________________________
g. Cities ________________________________________________________________________________
h. 3rd level ______________________________________________________________________________
i. One group____________________________________________________________________________
j. 4th level_______________________________________________________________________________
k. 4 subgroups ___________________________________________________________________________
C. Economic Base of Settlements
a. Basic_________________________________________________________________________________
b. Nonbasic _____________________________________________________________________________
c. A new basic___________________________________________________________________________
d. A community’s ________________________________________________________________________
e. Settlements ___________________________________________________________________________
f. A postindustrial _______________________________________________________________________
g. Settlements __________________________________________________________________________
h. Northern ____________________________________________________________________________
i. Individuals ___________________________________________________________________________
j. Attracting ____________________________________________________________________________


Name _____________________________
12.4 Why do services cluster downtown?
A. Central Business District
a. The CBD is ____________________________________________________________________________
b. 3 retail services ________________________________________________________________________
c. High threshold ________________________________________________________________________
d. Department ___________________________________________________________________________
e. High range ____________________________________________________________________________
f. Many ________________________________________________________________________________
g. Faneuil Hall ___________________________________________________________________________
h. These downtown ______________________________________________________________________
i. The 24 hour ___________________________________________________________________________
j. In contrast ____________________________________________________________________________
k. Offices _______________________________________________________________________________
l. Centrally located ______________________________________________________________________
m. People _______________________________________________________________________________
n. The center’s __________________________________________________________________________
o. New York or__________________________________________________________________________
p. Tokyo ______________________________________________________________________________
q. The intensive_________________________________________________________________________
r. The typical ___________________________________________________________________________
s. Downtown ___________________________________________________________________________
t. 1st skyscrapers _________________________________________________________________________
u. Too many ____________________________________________________________________________
v. The nature___________________________________________________________________________
w. High rents ____________________________________________________________________________
x. Port cities_____________________________________________________________________________
y. Few people ___________________________________________________________________________
z. 2 reasons for migration_________________________________________________________________
aa. The most _____________________________________________________________________________
ab. The reconstruction _____________________________________________________________________
B. Suburbanization of Business
a. Since WWI____________________________________________________________________________
b. Instead retailing _______________________________________________________________________
c. Malls ________________________________________________________________________________
d. Most consumers _______________________________________________________________________
e. Factories _____________________________________________________________________________
f. Offices_______________________________________________________________________________
g. Secretaries____________________________________________________________________________
 
